EARAROBREBRT —5 XN—ZXBISH—F 2022E11888 () om)lliE2H

)3'?'?"“" C2 YSH—% EEEE TR
[xE<] 1 & :1,000,000 . 23 :400,000 . 33&:250,000 4 3&:150,000 9 . 5 & :100,000 /3
B RS RS R HE B5F (F28) FA4L (5% | BBIEML | E3F |[SIEY | AT | #AE | B FIR) / BF / S£ERS
< e -1- - HEEH— (1)
117110 Ty b1 ) o) M R ° ig;’ SRS
RFVIZINZAN B VIS vE— RHERS
- _ EIHE 5 - H 11
20119 | ZA/ VT TI=— % 3 | TmEs (575&5‘) 354|383 3 (43; Z Ef?s (11165)
R:Va—nFF—/ BTNV JUFT7—L
FEEA -10- - EAEA (E
3 2l 4vI(EnU o4 | PR (515/.2(; 10-10-9 | 37.8 5 (5_111) B O1li)
R:IAYveEAY B:I—-YUYILY S
=y~ 3 | HEEE 55.6 2-1-1 | 38.4| - 1 Mo | LLESE (1)
49} 2| TV—03>0Y # *50.0° @p) ) =
R:EvI7—H— B:IIvITURN 759 VHEHES
= e L+ ) -8- 3| - LLis#ats (110%)
515/ | 739 UVY "4 RS & A R ? EE:);’ BT
RFLSIAIY BN—RFAI—F« FATFURARNTST
SNy~ 4 | ENES 56.1 9-3-3 [38.7| -— 4 467 | BHAR (11IE)
61811 X=X RVVT e 54.0 %) © |¥I5YT RRIXVE )
RUFIWAVNT b BFAEATHIS AT 7—L
w3 W B4 | BIEE 56.2 7-3-7 |38.8] - 7 | 452 |{EEEERC (1)
71812/ Fy¥anyyz A52.0 /2 (-7 |BHEE 3
R:O-IVIUY §:9—Uhso94(R =]
TV 4 4 | BARE 56.6 5-5-7 39.4| — n 503 | J\AZ (IR
8l5|5|/—FIT—h 56.0 ) () | EAMEE )
RIIRART—LYF— 8:hRA—F Sw—pe
. o w EHE -9~ - ESA% (i)
917] 9| T—ILRLA—X it 4 5 (sgeé) 7-9-9 | 39.1 12 (4_1613421) /JEwm:
RIIARIT—IYF— BIRSZAVRU— BB
Q) HEEH -11- - HNEIE— (111
N - PZ% 2 4 3 el (576£‘) 12-11-11 | 38.2 9 (4+126; A1
YZRI—ZZRI— B:TAL/ T RES
. < AERES -12- - 24rE (I
1 3| FW—r=uy i3 | AR 5(72.)2 11-12-12 | 38.4 10 ‘IZ? ﬁmr;ﬁ;?f( &)
Rib—EyTa—FY BAATFAL i E4s
. 9 HEES 3= = FHE— (1)
1200 4 | E—FRAA—F VR i 4 A52.0 (517/23) 15640 8 ?fé ScpgE
RPIPITATVA B:E—FARNUWT SRR
@ 11— —BBIENI
13—7+—
20—7F— 4,2,1,10,5,6,(9,12),11,7,3,8
30—7— (2,70),(11,12),(1,4,5),6,9,7,8,3
43—F— 2,10,11,1,6,4,(5,12),(7,9) .8.,3
o ILRE
B B 10 90| [ D1 K 1-10 1,210 % 3= 1-7 3,320MH 3EE 1-7-10 8,020
7B B 10 220 7-10 1,440 B 7-1 7,480H 3EH 10-1-7 55,1304
1 3104 1-7 1,090 /B & 1-10 3,250
7 250 =51 10-1 7,680

ABIC DOV TRHUTEREERRODDZ. THIBLIETL



